Filomat 35:3 (2021), 707–721 https://doi.org/10.2298/FIL2103707M



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

On the Resolvent Existence and the Separability of a Hyperbolic Operator with Fast Growing Coefficients in $L_2(R^2)$

Mussakan Muratbekov^a, Yerik Bayandiyev^b

^aTaraz State Pedagogical Institute, Kazakhstan ^bL.N. Gumilyev Eurasian National University, Kazakhstan

Abstract. This paper studies the question of the resolvent existence, as well as, the smoothness of elements from the definition domain (separability) of a class of hyperbolic differential operators defined in an unbounded domain with greatly increasing coefficients after a closure in the space $L_2(R^2)$. Such a problem was previously put forward by I.M. Gelfand for elliptic operators.

Here, we note that a detailed analysis shows that when studying the spectral properties of differential operators specified in an unbounded domain, the behavior of the coefficients at infinity plays an important role.

1. Introduction

Consider a differential operator with unbounded coefficients

$$(L + \lambda I)u = \frac{\partial^2 u}{\partial x^2} - \frac{\partial^2 u}{\partial y^2} + b(y)u_x + q(y)u + \lambda u$$
(1.1)

initially defined on the set $C_0^{\infty}(R^2)$ of infinitely differentiable and compactly supported functions, where $(x, y) \in \mathbb{R}^2, \lambda \ge 0$.

Further it is assumed that the coefficients b(y), q(y) satisfy the condition:

i) $|b(y)| \ge \delta_0 > 0$, $q(y) \ge \delta > 0$ are continuous functions in $\mathbb{R} = (-\infty, \infty)$.

It is easy to verify that the operator $L + \lambda I$ admits a closure in $L_2(\mathbb{R}^2)$ which will be denoted by $L + \lambda I$.

We note that a comprehensive bibliography on the existence, uniqueness, and qualitative behavior of solutions of hyperbolic type differential equations is contained, for example, in the papers of J.Hadamard [1], C. Friedrichs [2], S.I. Sobolev [3], L. Garding [4], O.A. Ladyzhenskaya [5], A.V. Bitsadze [6], J.Leray [7], A. Nahushev [8], T. Sh. Kalmenov [9], T.I. Kiguradze [10, 11], A.V. Filinovskii [12] etc.

In these papers, for the differential equations, the Darboux, Goursat and Cauchy problems, periodic and boundary value problems with constant or variable bounded coefficients are studied.

Note that a differential operator of hyperbolic type in the whole space (Euclidean space of dimension) with continuous and bounded coefficients was studied in the paper of M. Nagumo [13].

²⁰¹⁰ Mathematics Subject Classification. 35M10;

Keywords. hyperbolic type operator, a resolvent, an unbounded domain

Received: 26 December 2019; Revised: 30 May 2020; Accepted: 03 April 2021

Communicated by Marko Nedeljkov

This paper was supported by the grant AP08855802 of the Ministry of Education and Science of the Republic of Kazakhstan. *Email addresses:* musahan_m@mail.ru (Mussakan Muratbekov), erikn87@mail.r (Yerik Bayandiyev)

As it is well known, a detailed analysis shows that when studying the spectral characteristics of differential operators is given in an unbounded domain, the problem of the coefficients behavior at infinity is an important problem. As J. Leray [7] noted in his work the study of the hyperbolic operators in the whole space is an important and interesting problem.

In this paper, we study in the space $L_2(\mathbb{R}^2)$, the question of the existence of a solution to one class of differential operators of hyperbolic type with strongly increasing coefficients.

This paper also considers the question of the elements smoothness from the domain of a singular hyperbolic operator after the closure in $L_2(\mathbb{R}^2)$, such a problem was proposed by I.M. Gelfand for elliptic operators [14].

To answer these questions, at first we define:

Definition 1.1. The hyperbolic operator *L* is separable if the estimate

$$||u_{xx} - u_{yy}||_2 + ||u_y||_2 + ||b(y)u_x||_2 + ||q(y)u||_2 \le c \cdot (||Lu||_2 + ||u||_2),$$

holds, where $c_i 0$ does not depend on $u \in \mathbb{D}(L)$, and $\|\cdot\|_2$ is the norm in $L_2(\mathbb{R}^2)$.

Recall that in this case, the separability of the operator L and the maximum regularity of solutions of the equation $Lu = f \in L_2(\mathbb{R}^2)$ are equivalent [15-17].

For elliptic operators, in the case of unbounded domains, the separability was investigated in papers [18-25].

The main results are presented in the following theorems:

Theorem 1.1. Let the condition i) be fulfilled. Then there exists a continuous inverse operator $(L + \lambda I)^{-1}$ for $\lambda \ge 0$ defined in the space $L_2(\mathbb{R}^2)$.

Suppose that the coefficients b(y) and q(y) and i) satisfy the conditions:

 $\begin{aligned} ii) \ \mu &= \sup_{|y-t| \le 1} \frac{b(y)}{b(t)} < \infty; \ \mu &= \sup_{|y-t| \le 1} \frac{q(y)}{q(t)} < \infty. \\ iii) \ q(y) &\le c_0 \cdot b^2(y), \ y \in \mathbb{R}, \ c_0 > 0 \ is \ a \ constant \ number, \ where \ \mathbb{R}(-\infty,\infty). \end{aligned}$

Theorem 1.2. Let the conditions i)-iii) be fulfilled. Then the operator $(L + \lambda I)$ for $\lambda \ge 0$ is separable.

Example 1.1. For the operator

$$Lu = u_{xx} - u_{yy} + e^{100 \cdot |y|} u_x + e^{10 \cdot |y|} \cdot u, \ u \in \mathbb{D}(L), \ y \in (-\infty, \infty)$$

It is easy to verify, that all conditions of the theorems 1.1-1.2 are satisfied.

Hence, there is a continuous inverse operator for it and the operator is separable, i.e. the estimate

 $||u_{xx} - u_{yy}||_{2} + ||e^{100 \cdot |y|}u_{x}||_{2} + ||u_{y}||_{2} + ||e^{10 \cdot |y|}u||_{2} \le c \cdot (||Lu||_{2} + ||u||_{2}),$

holds, where $c_i 0$ is a constant number.

2. The existence of a resolvent.

2.1. Auxiliary lemmas and estimates.

Consider the operator

$$(l_t + \lambda I)u = -u''(y) + (-t^2 + itb(y) + q(y) + \lambda)u$$

initially defined on the set $C_0^{\infty}(R)$, $t \in \mathbb{R}$.

It is easy to verify that the operator $l_t + \lambda I$ admits a closure in $L_2(\mathbb{R}^2)$, which is also denoted by $l_t + \lambda I$.

Lemma 2.1. *Let the condition i) be fulfilled. Then the estimate*

$$c(\delta) \cdot ||l_t + \lambda I||_2 \ge (\delta + \lambda)^{\frac{1}{2}} ||u||_2, \tag{2.1}$$

holds in the space $L_2(\mathbb{R})$ for all $u \in D(l_t)$ when $\lambda \ge 0$, where $\|\cdot\|_2$ is the norm in $L_2(\mathbb{R}^2)$, $c(\delta) > 0$.

Proof. Let $u \in C_0^{\infty}(R)$. Then the equation

$$<(l_{t} + \lambda I)u, u >= \int_{R} (-u''(y) + (-t^{2} + itb(y) + q(y) + \lambda)u)\bar{u}dy =$$
$$= \int_{R} |u'(y)|^{2}dy + \int_{R} (-t^{2} + itb(y) + q(y) + \lambda)|u|^{2}dy,$$
(2.2)

holds, where $\langle \cdot, \cdot \rangle$ is a scalar product in $L_2(R)$.

From equality (2.2) it follows that

$$| < (l_t + \lambda I)u, u > | \ge \int_R |u'|^2 dy + \int_R (q(y) + \lambda)|u|^2 dy - \int_R t^2 |u|^2 dy$$

This implies the validity of the following inequalities

$$| < (l_t + \lambda I)u, u > | \ge \int_{R} |u'|^2 dy - \int_{R} t^2 |u|^2 dy,$$
(2.3)

$$| < (l_t + \lambda I)u, u > | \ge \int_R (q(y) + \lambda)|u|^2 dy - \int_R t^2 |u|^2 dy.$$
(2.4)

Now, using the Cauchy inequality with $\ll \varepsilon > 0 \gg$ and the condition *i*), from (2.4), we obtain

$$\frac{1}{2\delta} \|(l_t + \lambda I)u\|_2^2 \ge \frac{1}{2} \int_R (q(y) + \lambda)|u|^2 dy - \int_R t^2 |u|^2 dy,$$
(2.5)

where $\varepsilon = \frac{\delta}{2}$. Next, consider the following functional

$$| < (l_t + \lambda I)u, -itu > | = |it \int_R |u'|^2 + (-t^2 + q(y) + \lambda)|u|^2 dy + \int_R t^2 b(y)|u|^2 dy|.$$
(2.6)

Hence we obtain

$$| < (l_t + \lambda I)u, -itu > | \ge \int_{R} |t|^2 |b(y)| |u|^2 dy.$$
(2.7)

By the condition i) from (2.7) we have

$$| < (l_t + \lambda I)u, -itu > | \ge t^2 \delta_0 ||u||_2^2.$$
(2.8)

From the last inequality we obtain

$$\|(l_t + \lambda I)u\|_2^2 \ge |t|^2 \delta_0^2 \|u\|_2^2.$$
(2.9)

Now, multiplying by the number $c_0 > 0$ both parts of (2.9) we obtain

$$c_0 ||(l_t + \lambda I)u||_2^2 \ge c_0 |t|^2 \delta_0^2 ||u||_2^2.$$
(2.10)

Combining (2.10) and (2.5) and choosing the number $c_0 > 0$ as $|t|^2 \delta_0^2 c_0 - |t|^2 \ge 0$ result in

$$2 \cdot (c_0 + \frac{1}{\delta}) \cdot ||(l_t + \lambda I)u||_2^2 \ge \int_R (q(y) + \lambda)|u|^2 dy.$$

From the last inequality, by virtue of the condition i), we have

$$c(\delta) \cdot \|(l_t + \lambda I)u\|_2 \ge (\delta + \lambda)^{\frac{1}{2}} \cdot \|u\|_2,$$

where $c(\delta) = \sqrt{2} \cdot (c_0 + \frac{1}{\delta})^{\frac{1}{2}}$. The inequality (2.1) is proved. Let's take $\{\varphi_j\}$ the set of non-negative functions from $C_0^{\infty}(R)$ such that

$$\sum_{j} \varphi_{j}^{2} \equiv 1, \text{ sup } p \varphi_{j} \subset \Delta_{j}, \bigcup_{j} \Delta_{j} = R,$$

where $\triangle_{j} = (j - 1, j + 1), j \in \mathbb{Z}$.

Remark 2.1. It is easy to verify that in the system of functions $\{\varphi_j\}_{j=-\infty}^{j=\infty}$, supports of functions have no more than a triple intersection, i.e. any point $y \in R$ can belong to no more than three segments from the system of segments $\{\sup p \varphi_j\}$.

Continue b(y), q(y) from \triangle_j for all R so that, their continuation of $b_j(y)$ and $q_j(y)$ were bounded and periodic functions of the same period.

Denote by $l_{t,j,\alpha} + \lambda I$ the closure of operator

$$(l_{t,j,\alpha} + \lambda I)u = -u''(y) + (-t^2 + i(tb_j(y) + \alpha) + q_j(y) + \lambda) \cdot u$$
(2.11)

defined on $C_0^{\infty}(R)$, where the sign of a real number α coincides with the sign of the function b(y), i.e. $\alpha \cdot b(y) > 0$ at $y \in R$.

Lemma 2.2. Let the condition i) be fulfilled. Then the estimate

$$c(\delta) \cdot \|l_{t,j,\alpha} + \lambda I\|_2 \ge (\delta + \lambda)^{\frac{1}{2}} \|u\|_2, \tag{2.12}$$

holds in the space $L_2(R)$ for all $u \in D(l_{t,j,\alpha})$ when $\lambda \ge 0$, where $\|\cdot\|_2$ is the norm in $L_2(R^2)$, $c(\delta) > 0$.

Proof. Let $u \in C_0^{\infty}(R)$. Then

$$| < (l_{t,j,\alpha} + \lambda I)u, u > | \ge |\int_{R} |u'|^2 dy + \int_{R} (q_j(y) + \lambda)|u|^2 dy| - |\int_{R} t^2 |u|^2 dy|.$$
(2.13)

Hence the following inequalities are obtained

$$\|(l_{t,j,\alpha} + \lambda I)u\|_{2} \cdot \|u\|_{2} \ge \int_{R} |u'|^{2} dy - \int_{R} t^{2} |u|^{2} dy,$$

$$\frac{1}{2\varepsilon} \|(l_{t,j,\alpha} + \lambda I)u\|_{2}^{2} + \frac{\varepsilon}{2} \|u\|_{2}^{2} \ge \int_{R} [q_{j} + \lambda] \cdot |u|^{2} dy - \int_{R} t^{2} |u|^{2} dy.$$
(2.14)

From the last inequality chosing $\varepsilon = \frac{\delta}{2}$ and considering that $q_j \ge \delta$, we obtain

$$\frac{1}{\delta} \| (l_{t,j,\alpha} + \lambda I) u \|_2^2 \ge \frac{1}{2} \int_R [q_j + \lambda] \cdot |u|^2 dy - t^2 \int_R |u|^2 dy.$$
(2.15)

Now, the following scalar product is considered

$$| < (l_{t,j,\alpha} + \lambda I)u, -itu > | = | -it(\int_{R} |u'|^2 dy + \int_{R} [-t^2 + q_j(y) + \lambda] |u|^2 dy) + \int_{R} t^2 (b_j(y) + \alpha) |u|^2 dy|$$

Hence and by virtue of the condition $\alpha \cdot b(y) > 0$ at $y \in \mathbb{R}^n$ we have

$$| < (l_{t,j,\alpha} + \lambda I)u, -itu > | \ge t^2 \int_R (|b_j(y)| + \alpha)|u|^2 dy|.$$

From this inequality we obtain

$$\|(l_{t,j,\alpha} + \lambda I)u\|_2^2 \ge |t|^2 (\delta_0 + |\alpha|)^2 \|u\|_2^2.$$
(2.16)

Further combining inequalities (2.15) and (2.16) and choosing α as $(\delta_0 + |\alpha|)^2 - 1 \ge 0$ we have

$$\frac{1}{\delta} \| (l_{t,j,\alpha} + \lambda I) u \|_2^2 + \| (l_{t,j,\alpha} + \lambda I) u \|_2^2 \ge \frac{1}{2} \int_R [q_j + \lambda] \cdot |u|^2 dy.$$
(2.17)

Consequently we have

$$c(\delta) \cdot ||l_{t,j,\alpha} + \lambda I||_2 \ge (\delta + \lambda)^{\frac{1}{2}} ||u||_2$$

where $c(\delta) = \sqrt{2(\frac{1}{\delta} + 1)}$. Lemma 2.2 is proved.

Lemma 2.3. The operator $l_{t,j,\alpha} + \lambda I$ has the continuous inverse $(l_{t,j,\alpha} + \lambda I)^{-1}$ for $\lambda \ge 0$ defined in the whole space $L_2(R)$.

Proof. From the estimate (2.12) it follows that to prove lemma 2.3 and it is need to show, that the range of values $R(l_{t,j,\alpha} + \lambda I)$ of the operator $l_{t,j,\alpha} + \lambda I$ coincides with the whole space $L_2(R)$. And also from the estimate (2.16) it follows that $||(l_{t,j,\alpha} + \lambda I)^{-1}||_2 \rightarrow 0$ for $|t| \rightarrow \infty$. Hence, it suffices to prove Lemma 2.3 for finite $t \neq 0$. Let's prove it by contradiction.

Let there be an element $v \in L_2(R)$, $v \neq 0$ such that $\langle (l_{t,j,\alpha} + \lambda I)u, v \rangle = 0$ for any $u \in D(l_{t,j,\alpha})$. From the last equality we obtain

$$(l_{t,j,\alpha} + \lambda I)^* \nu = -\nu'' + (-t^2 - itb_j(y) + q_j(y) + \lambda)\nu = 0$$
(2.18)

in terms of distributions. Since $b_j(y)\nu$, $q_j(y)\nu \in L_2(R)$, then from (2.18) it follows that $\nu'' \in L_2(R)$ at the finite t, i.e. $\nu \in W_2^2(R)$. Now if the inequality

$$\|(l_{t,j,\alpha} + \lambda I)^* \nu_n\|_2 \ge c \|\nu_n\|_2$$
(2.19)

holds for any $v_n \in C_0^R$, c is a constant number, then it is also true for $v \in W_2^2(R)$. Really, for $v \in W_2^2(R)$ there is a sequence $\{v_n\} \in C_0^{\infty}(R)$ converting to v(y) in a norm $L_2(R)$. It is easy to prove that the inequality (2.19) is true for every $v_n(y)$. It is proved in the same way as inequality (2.12) in Lemma 2.2. Passing in it to the limit by $n \to \infty$, we obtain, as it is easily seen, inequality (2.19) for v(y) (this procedure is shortly called the closure of the inequality (2.19) in the norm $L_2(R)$), i.e.

$$||(l_{t,j,\alpha} + \lambda I)^* \nu||_2 \ge c ||\nu||_2$$

Since $(l_{t,j,\alpha} + \lambda I)^* = 0$, then from the last inequality it follows that $\nu \equiv 0$. Lemma 2.3 is proved.

Lemma 2.4. Let the condition i) be fulfilled and $\lambda \ge 0$. Then the following inequalities are true: $a)||(l_{t,j,\alpha} + \lambda I)^{-1}||_{2\to 2} \le \frac{c}{(\delta+\lambda)^{\frac{1}{2}}}, c = c(\delta) > 0;$ $b)||\frac{d}{dy}(l_{t,j,\alpha} + \lambda I)^{-1}||_{2\to 2} \le \frac{c}{(\delta+\lambda)^{\frac{1}{4}}}, c > 0.$

Proof. Estimate a) follows the estimate (2.12). Also from the estimate (2.12) it follows that the inequality

$$\frac{c(\delta)}{(\delta+\lambda)^{\frac{1}{2}}} ||(l_{t,j,\alpha}+\lambda I)u||_2 \ge ||u||_2.$$

$$(2.20)$$

From the inequality (2.14) taking into account the inequality (2.20), it is found that

$$\frac{c(\delta)}{(\delta+\lambda)^{\frac{1}{2}}} \| (l_{t,j,\alpha}+\lambda I) u \|_2^2 \ge \int_R |u'|^2 dy - t^2 \int_R |u|^2 dy.$$
(2.21)

Now, by multiplying both sides of the inequality (2.16) by the number $\frac{1}{(\delta+\lambda)^{\frac{1}{2}}}$, the following inequality is found:

$$\frac{1}{\sqrt{\delta+\lambda}} \|(l_{t,j,\alpha}+\lambda I)u\|_2^2 \ge \frac{|t|^2(\delta_0+|\alpha|)^2}{(\delta+\lambda)^{\frac{1}{2}}} \|u\|_2^2.$$
(2.22)

Now, by combining (2.21) and (2.22) we get

$$\frac{c(\delta)+1}{(\delta+\lambda)^{\frac{1}{2}}} \|(l_{t,j,\alpha}+\lambda I)u\|_2^2 \ge \int_R |u'|^2 dy + t^2 \int_R \left(\frac{(\delta_0+|\alpha|)^2}{(\delta+\lambda)^{\frac{1}{2}}} - 1\right) |u|^2 dy$$

Hence choosing α as $\frac{(\delta_0 + |\alpha|)^2}{(\delta + \lambda)^{\frac{1}{2}}} - 1 \ge 0$. From the last inequality the following estimate is found

$$\frac{c}{(\delta + \lambda)^{\frac{1}{2}}} \| (l_{t,j,\alpha} + \lambda I) u \|_2^2 \ge \| u' \|_2^2,$$

 $c = c(\delta) + 1$. The estimate b) is proved. Lemma 2.4 is completely proved.

Denote by $l_{t,\alpha} + \lambda I$ closure in $L_2(R)$ differential expression

$$(l_{t,\alpha} + \lambda I)u = -u''(y) + (-t^2 + it(b(y) + \alpha) + q(y) + \lambda) \cdot u$$

define on the set $C_0^{\infty}(R)$.

Lemma 2.5. Let the condition *i*) be fulfilled and $\lambda \ge 0$. Then the inequalities

$$||(l_{0,\alpha} + \lambda I)u||_2 \ge (\delta + \lambda)||u||_2, \tag{2.23}$$

$$\|(l_{t,\alpha} + \lambda I)u\|_2 \ge |t|(\delta_0 + |\lambda|)\|u\|_2, t \ne 0.$$
(2.24)

hold for $u \in D(l_{t,\alpha} + \lambda I)$.

Proof. The inequalities (2.23) and (2.24) are proved by using functionals $\langle (l_{0,\alpha} + \lambda I)u, u \rangle$, $\langle (l_{t,\alpha} + \lambda I)u, u \rangle, u \in C_0^{\infty}(R)$. Suppose

$$K_{\lambda,\alpha}f = \sum_{\{j\}} \varphi_j (l_{t,j,\alpha} + \lambda I)^{-1} \varphi_j f, \qquad (2.25)$$

where $f \in L_2(R)$, $\{\varphi_j\}$ is a set of functions in $C_0^{\infty}(R)$ such that $\sum_{\{j\}} \varphi_j^2 \equiv 1$, $\sup p\varphi_j \subset \Delta_j$, $\bigcup_{\{j\}} \Delta_j = \mathbb{R}, \ \Delta_j = (j - 1, j + 1), \ j \in Z, \ l_{t,j,\alpha} + \lambda I$ is the operator from Lemma 2.2. It is easy to check that

$$(l_{t,j,\alpha} + \lambda I)K_{\lambda,\alpha}f = f - B_{\lambda,\alpha}f, \qquad (2.26)$$

where

$$B_{\lambda,\alpha}f = \sum_{\{j\}} \varphi_j''(l_{t,j,\alpha} + \lambda I)^{-1}f + 2\sum_{\{j\}} \varphi_j' \frac{d}{dy}(l_{t,j,\alpha} + \lambda I)^{-1}\varphi_j f.$$

Lemma 2.6. Let the condition i) be fulfilled. Then there is a number $\lambda_0 > 0$ such that

$$||B_{\lambda,\alpha}||_{2\to 2} < 1$$
 for all $\lambda \ge \lambda_0$.

Proof. Let $f \in C_0^{\infty}(R)$. Subsequently, taking into account that on the interval $\Delta_j (j \in Z)$ only if the functions φ_{j-1} , φ_{j+1} are different from zero, we obtain

$$\begin{split} \|B_{\lambda,\alpha}f\|_{2}^{2} &= \int_{-\infty}^{\infty} \left(\sum_{j=-\infty}^{\infty} \varphi_{j}^{''}(l_{t,j\alpha}+\lambda I)^{-1}\varphi_{j}f + 2\sum_{\{j\}} \varphi_{j}^{'}\frac{d}{dy}(l_{t,j,\alpha}+\lambda I)^{-1}\varphi_{j}f\right)^{2}dy \leq \\ &\leq \sum_{j=-\infty}^{\infty} \int_{\Delta_{j}} \left|\sum_{k=j-1}^{j+1} \left(\varphi_{k}^{''}(l_{t,k,\alpha}+\lambda I)^{-1}\varphi_{k}f + 2\varphi_{k}^{'}\frac{d}{dy}(l_{t,k,\alpha}+\lambda I)^{-1}\varphi_{k}f\right)\right|^{2}dy. \end{split}$$

Hence, taking into account the previous inequality $(a + b + c)^2 \le 3(a^2 + b^2 + c^2)$ and estimates a), b) of Lemma 2.4, we obtain

$$||B_{\lambda,\alpha}f||_2^2 \le c_0 \left[\frac{c}{(\delta+\lambda)} + \frac{c}{(\delta+\lambda)^{\frac{1}{2}}}\right] \cdot ||f||_2^2,$$

where $c_0 = max \{ |\varphi'_i|, |\varphi''_i| \}$, and the constant c from Lemma 2.4.

Consequently, it is easy to find such a number $\lambda_0 > 0$, that with $\lambda \ge \lambda_0 ||B_{\lambda,\alpha}||_{2\to 2} < 1$. Lemma 2.6 is proved.

Lemma 2.7. Let the condition *i*) be fulfilled and $\lambda \ge \lambda_0 > 0$. Then the $l_{t,\alpha} + \lambda I$ boundedly invertible, and for the inverse operator $(l_{t,\alpha} + \lambda I)^{-1}$ fulfilled the equation:

$$(l_{t,\alpha} + \lambda I)^{-1} = K_{\lambda,\alpha} (I - B_{\lambda,\alpha} f)^{-1}$$
(2.27)

Proof. The proof of the lemma follows from the representation (2.26) taking into account of Lemmas 2.5 and 2.6.

Now, consider the question of the invertibility of the initial operator $l_t + \lambda I$. To do this, consider the following equation

$$(l_t + \lambda I)u = -u''(y) + (-t^2 + itb(y) + q(y) + \lambda)u = f(x)$$
(2.28)

where $f(x) \in L_2(R)$.

Definition 2.1. The solution of the equation (2.28) is the function $u \in L_2(R)$, for which there is a sequence $\{u_n\}_{n=1}^{\infty} \subset C_0^{\infty}(R)$ such that:

$$|u_n - u||_2 \to 0$$
, $||(l_t + \lambda I)u_n - f||_2 \to 0$ as $n \to \infty$.

This shows that the inverse operator $(l_t + \lambda I)^{-1}$ coincides with the closure in $L_2(R)$ of the operator $l_t + \lambda I$ defined on $C_0^{\infty}(R)$.

Lemma 2.8. Let the condition *i*) be fulfilled and $\lambda \ge \lambda_0 > 0$. Then the $l_t + \lambda I$ is boundedly invertible, and for the inverse operator $(l_t + \lambda I)^{-1}$ it has fulfilled the equation

$$(l_t + \lambda I)^{-1} f = (l_{t,\alpha} + \lambda I)^{-1} (I - A_{\lambda,\alpha})^{-1} f,$$
(2.29)

where, $f \in L_2(R)$, $||A_{\lambda,\alpha}||_{2\to 2} < 1$.

Proof. Let be $t \neq 0$. The equation

$$(l_t + \lambda I)u = -u''(y) + (-t^2 + itb(y) + q(y) + \lambda)u = f$$
(2.30)

can be rewriten in the form

$$\nu - A_{\lambda,\alpha}\nu = f,\tag{2.31}$$

where $v = (l_{t,\alpha} + \lambda I)u$, $A_{\lambda,\alpha} = it\alpha(l_{t,\alpha} + \lambda I)^{-1}$, $i^2 = -1$. Lemma 2.5 implies that:

$$||A_{\lambda,\alpha}\nu||_{2} \le \frac{|t| \cdot |\alpha|}{|t|(\delta_{0} + |\alpha|)} < 1.$$
(2.32)

From (2.30)-(2.32) it follows that:

$$u = (l_t + \lambda I)^{-1} f = (l_{t,\alpha} + \lambda I)^{-1} (I - A_{\lambda,\alpha})^{-1} f$$

at $t \neq 0$.

It is known that for t = 0 the operator is essentially self-adjoint [26], and for all $u \in D(l_0)$ the estimate is valid

$$\|(l_0 + \lambda I)u\|_2 \ge (\delta + \lambda)\|u\|_2.$$

It follows that the operator $l_0 + \lambda I$ has a bounded inverse $(l_0 + \lambda I)^{-1}$ defined on all $L_2(R)$. Lemma 2.8 is proved.

Lemma 2.9. Let the condition i) be fulfilled and $\lambda \ge 0$. Then for all $u \in D(l_t)$ the following estimates are true:

$$||(l_0 + \lambda I)u||_2 \ge \delta ||u||_2,$$

$$||(l_t + \lambda I)u||_2 \ge |t|\delta_0||u||_2, t \ne 0.$$

Proof. Lemma 2.9 is proved the same as lemma 2.5. The following lemma is known [27]:

Lemma 2.10. Let the operator $l_t + \lambda_0 I$ ($\lambda_0 \ge 0$) be boundedly invertible in $L_2(R)$ and if $\lambda \in [0, \lambda_0]$ the estimate

 $\|(l_t + \lambda I)u\|_2 \ge c \cdot \|u\|_2,$

holds for all $u \in D(l_t + \lambda I)$, c > 0 - *constant number.*

Then the operator $l_t : L_2(R) \to L_2(R)$ is also boundedly invertible.

From Lemmas 2.8-2.10, the following lemma is easily derived:

Lemma 2.11. Let the condition *i*) be fulfilled and $\lambda \ge 0$. Then the operator $l_t + \lambda I$ boundedly invertible in the space $L_2(R)$.

Proof of the theorem 1.1. To prove Theorem 1.1, the following lemma shoued be firstly proved for operator (1.1).

Lemma 2.12. *Let the condition i) be fulfilled and* $\lambda \ge 0$ *. Then the estimate*

$$\|(L + \lambda I)u\|_{2} \ge c \cdot \|u\|_{2} \tag{2.33}$$

holds for any $u \in D(L + \lambda I)$, were c > 0 is a constant number.

Proof. Estimate (2.33) we prove first for real-valued functions. Since the coefficients of the operator (1.1) are real, the estimate (2.33) is valid for complex-valued functions. Let $u \in C_0^{\infty}$. Consider the scalar product:

$$<(L+\lambda I)u,u>=\int_{R^2} [u_{xx}-u_{yy}+(b(y)u_x+q(y)+\lambda)u]udxdy.$$

By using the method of integration by parts and using the Cauchy inequality with $\ll \varepsilon > 0 \gg$, we obtain

$$\frac{1}{2\delta} \|(L+\lambda I)u\|_2^2 \ge \|u_y\|_2^2 + \left(\frac{\delta}{2} + \lambda\right) \cdot \|u\|_2^2 - \|u_x\|_2^2.$$
(2.34)

Further, consider the expression

$$<(L+\lambda I)u, u_x>=\int\limits_{R^2}u_{xx}u_xdxdy-\int\limits_{R^2}u_{yy}u_xdxdy+\int\limits_{R^2}b(y)u_x^2dxdy+\int\limits_{R^2}(q(y)+\lambda)uu_xdxdy$$

Applying the method of integration by parts for each term the following is obtained

$$I_{1} = \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} u_{x}u_{xx}dxdy = 0;$$
$$I_{2} = \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} u_{yy}u_{x}dxdy = 0;$$
$$I_{3} = \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (q(y) + \lambda)uu_{x}dxdy = 0.$$

Given this and applying the Cauchy inequality with $\ll \varepsilon > 0 \gg$, we have

$$\frac{1}{2\varepsilon} \|(L+\lambda I)u\|_2^2 \ge \left(\min_{y\in R} |b(y)| - \frac{\varepsilon}{2}\right) \cdot \|u_x\|_2^2.$$

Choosing, $\varepsilon = \delta_0$ we find:

$$\frac{1}{\delta_0} \| (L + \lambda I) u \|_2^2 \ge \delta_0 \cdot \| u_x \|_2^2.$$
(2.35)

Further, multiplying both sides of the inequality (2.35) by $\frac{1}{\delta_0}$ and combining with (2.34), we obtain

$$\left(\frac{1}{2\delta} + \frac{1}{\delta_0^2}\right) \cdot \|(L + \lambda I)u\|_2^2 \ge \|u_y\|_2^2 + \left(\frac{\delta}{2} + \lambda\right) \cdot \|u\|_2^2 - \|u_x\|_2^2 + \|u_x\|_2^2$$

Hence

$$\left(\frac{1}{2\delta} + \frac{1}{\delta_0^2}\right) \cdot \left\| (L + \lambda I) u \right\|_2^2 \ge \left(\frac{\delta}{2} + \lambda\right) \cdot \left\| u \right\|_2^2 \ge \frac{\delta}{2} \cdot \left\| u \right\|_2^2.$$

$$(2.36)$$

The last inequality proves Lemma 2.12.

Now, the existence of the inverse operator $(L + \lambda I)^{-1}$ of $L + \lambda I$ should be shown.

Definition 2.2. The solution of the equation $(L + \lambda I)u = f$ is the function $u \in L_2(\mathbb{R}^2)$, for which there is a sequence $\{u_n\}_{n=1}^{\infty} \subset C_0^{\infty}(\mathbb{R}^2)$ such that

$$||u_n - u||_2 \to 0, \quad ||(L + \lambda I)u_n - f||_2 \to 0 \quad at \quad n \to \infty.$$

This shows that the inverse operator $(L + \lambda I)^{-1}$ coinsides with the closure in $L_2(R^2)$ of the operator $L + \lambda I$ defined on $C_0^{\infty}(R^2)$. Consider the equation:

$$(L+\lambda I)u=\frac{\partial^2 u}{\partial x^2}-\frac{\partial^2 u}{\partial y^2}+(q(y)+\lambda)u=f\in C_0^\infty(R^2).$$

By applying the Fourier transformation by *x*, the following equation is obtained

$$(l_t + \lambda I)\tilde{u} = -\tilde{u}''(y) + (-t^2 + itb(y) + q(y) + \lambda)\tilde{u} = \tilde{f}(t, y),$$

where \tilde{u} , \tilde{f} are Fourier transform with respect to the variable *x* of functions u(x, y) and f(x, y).

In the following the Fourier transformation is denoted by $F_{x\to t}$, and the Fourier inversion is denoted by $F_{t\to x}^{-1}$.

From Lemma 2.11 and using the properties of the Fourier transform we have

$$u(x,y) = (L + \lambda I)^{-1} f = F_{t \to x}^{-1} (l_t + \lambda I)^{-1} \tilde{f}.$$
(2.37)

The last equality by virtue of the continuity of the operator $(l_t + \lambda I)^{-1}$ and the Fourier transformation holds for all $f(x, y) \in L_2(\mathbb{R}^2)$. Uniqueness follows from Lemmas 2.12. Theorem 1.1 is proved.

3. About the separability of the operator $L + \lambda I$.

In this section, we carry out a series of statements and estimates that reduce the separability of an operator with unbounded coefficients to the case of an operator with periodic coefficients.

Lemma 3.1. Let the condition i)-iii) be fulfilled. Then the following inequalities are true

$$\|(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le \frac{1}{|t| \cdot |b(\tilde{y}_j)|}, \quad t \neq 0;$$
(3.1)

$$\|(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le \frac{1}{q(\overline{y}_j) + \lambda}, \quad t \neq 0,$$
(3.2)

where $|b(\tilde{y}_j)| = \min_{y \in \overline{\Delta}_j} |b(y)|, |q(\overline{y}_j)| = \min_{y \in \overline{\Delta}_j} |q(y)|, c > 0.$

Proof. For any $u \in C_0^{\infty}(\mathbb{R}^2)$ we have

$$<(l_{t,j,\alpha}+\lambda I)u,u>=\int_{R}\left(|u'|^{2}+(-t^{2}+q_{j}(y)+\lambda)|u|^{2}\right)dy+\int_{R}it(b_{j}(y)+\alpha)|u|^{2}dy.$$
(3.3)

Hence, taking into account the condition i) and using the Cauchi-Bunyakovsky inequality, we find

$$\|(l_{t,j,\alpha} + \lambda I)u\|_{2}^{2} \ge |t|^{2} \cdot \left(|b_{j}(\tilde{y})| + |\alpha|\right)^{2} \|u\|_{2}^{2} \ge |t|^{2} \cdot |b_{j}(\tilde{y})|^{2} \|u\|_{2}^{2}.$$
(3.4)

Further, from inequality (3.4), according to the definition of the norm of the operator, we obtain

$$||(l_{t,j,\alpha} + \lambda I)u||_{2 \to 2} \le \frac{1}{|t| \cdot |b(\tilde{y}_j)|}, \quad t \neq 0.$$

Inequality (3.1) is proved.

From inequality (3.3), by virtue of the Cauchy inequality with $\ll \varepsilon > 0 \gg$, we obtain

$$\frac{1}{2(q(\overline{y}_j) + \lambda)} \|(l_{t,j,\alpha} + \lambda I)u\|_2^2 + \frac{q(\overline{y}_j) + \lambda}{2} \|u\|_2^2 \ge \int_R \left[|u'|^2 + (q_j(y) + \lambda)|u|^2 \right] dy - \int_R t^2 |u|^2 dy + \int_R$$

where $\varepsilon = q(\overline{y}_i) + \lambda$. Hence

$$\frac{1}{2(q(\overline{y}_{j})+\lambda)}\|(l_{t,j,\alpha}+\lambda I)u\|_{2}^{2} \ge \int_{R} |u'|^{2}dy + \frac{q(\overline{y}_{j})+\lambda}{2} \int_{R} |u|^{2}dy - \int_{R} t^{2}|u|^{2}dy.$$
(3.5)

We divide both sides of the inequality (3.4) by $2(q(\overline{y}_i) + \lambda)$:

$$\frac{1}{2\left(q(\overline{y}_j)+\lambda\right)}\left\|\left(l_{t,j,\alpha}+\lambda I\right)u\right\|_2^2 \ge \frac{\left[\left|t\right|\cdot\left(\left|b(\widetilde{y}_j)\right|+\left|\alpha\right|\right)\right]^2}{2\left(q(\overline{y}_j)+\lambda\right)}\left\|u\right\|_2^2.$$
(3.6)

Since \overline{y}_i , $\tilde{y}_i \in \Delta_i$, then from the condition ii) we have

$$\mu_1^{-1} \le \frac{q(\overline{y}_j)}{q(\widetilde{y}_j)} \le \mu_1, \ \mu_1 \ge 1$$

By virtue of the last inequality, it is easy to verify the validity of the following inequality

$$\frac{1}{2\left(q(\bar{y}_{j})+\lambda\right)}\|(l_{t,j,\alpha}+\lambda I)u\|_{2}^{2} \ge \frac{|t|^{2}(|b(\tilde{y}_{j})|+|\alpha|)^{2}}{2\mu_{1}\left(q(\tilde{y}_{j})+\lambda\right)}\|u\|_{2}^{2}.$$
(3.7)

Multiplying both sides of (3.7) by the number c₂0 and combining with inequality (3.5) we get

$$\frac{c+1}{2(q(\bar{y}_j)+\lambda)} \|(l_{t,j,\alpha}+\lambda I)u\|_2^2 \ge \|u'\|_2^2 + \frac{q(\bar{y}_j)+\lambda}{2} \|u\|_2^2 + t^2 \int_R \left[\frac{c\left(|b(\tilde{y}_j)|+|\alpha|\right)^2}{2\mu_1\left(q(\tilde{y}_j)+\lambda\right)} - 1\right] \cdot |u|^2 dy.$$
(3.8)

Hence taking into account the condition iii) and choosing α and c so that $\frac{c \cdot (|b(\tilde{y}_j)| + |\alpha|)^2}{2\mu_1(q(\tilde{y}_j) + \lambda)} - 1 \ge 0$, we get

$$\frac{c+1}{2(q(\overline{y}_j)+\lambda)} \|(l_{t,j,\alpha}+\lambda I)u\|_2^2 \ge \|u'\|_2^2 + \frac{q(y_j)+\lambda}{2} \|u\|_2^2.$$

Hence we find

$$c_1 \cdot ||(l_{t,j,\alpha} + \lambda I)u||_2^2 \ge (q(\overline{y}_j) + \lambda)^2 ||u||_2^2,$$
(3.9)

where $c_1 = c + 1$.

From (3.9), according to the definition of the norm, we have:

$$\|(l_{t,j,\alpha}+\lambda I)^{-1}\|_{2\to 2} \leq \frac{c_1}{q(\overline{y}_j)+\lambda}.$$

Lemma 3.1 is proved.

Lemma 3.2. Let the conditions of the lemma 3.1 be fulfilled and $\lambda > 0$ be such that $||B_{\lambda,\alpha}||_{2\to 2} < 1$. Then the following estimate is fair

$$\|\rho(y)|t|^{\alpha}(l_{t,\alpha} + \lambda I)^{-1}\|_{2}^{2} \le c(\lambda) \sup_{\{j\}} \|\rho(y)|t|^{\alpha} \varphi_{j}(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2}^{2},$$
(3.10)

where $\alpha = 0, 1, \rho(y)$ - continuous function in R.

Proof. From representation (2.27) it is clear that the operator $\rho(y)|t|^{\alpha}(l_{t,\alpha} + \lambda I)^{-1}$ is bounded (or unbounded) together with the operator $\rho(y)|t|^{\alpha}K_{\lambda,\alpha}(I - B_{\lambda,\alpha})^{-1}$. Therefore, the estimate of the operator's norm $\rho(y)|t|^{\alpha}K_{\lambda,\alpha}(I - B_{\lambda,\alpha})^{-1}$ will be considered. For any $f \in L_2(R)$ we have:

$$\|\rho(y)|t|^{\alpha}(l_{t,\alpha}+\lambda I)^{-1}f\|_{2}^{2} = \left\|\rho(y)|t|^{\alpha}\sum_{\{j\}}\varphi_{j}(l_{t,j,\alpha}+\lambda I)^{-1}\varphi_{j}(I-B_{\lambda,\alpha})^{-1}f\right\|_{2}^{2} \leq \frac{1}{2}\sum_{\{j\}}\varphi_{j}(I_{t,j,\alpha}+\lambda I)^{-1}\varphi_{j}(I-B_{\lambda,\alpha})^{-1}f\|_{2}^{2}$$

M. Muratbekov, Ye. Bayandiyev / Filomat 35:3 (2021), 707-721

$$\leq \sum_{\{j\}} \int_{j-1}^{j+1} \left| \sum_{\{j\}} \rho(y) |t|^{\alpha} \varphi_j (l_{t,j,\alpha} + \lambda I)^{-1} \varphi_j (I - B_{\lambda,\alpha})^{-1} f \right|^2 dy.$$

It is not difficult to verify that on $\overline{\Delta}_j = [j - 1, j + 1]$ is only φ_{j-1} , φ_j , $\varphi_{j+1} \neq 0$, considering this and the well-known inequality $(a + b + c)^2 \leq 3(a^2 + b^2 + c^2)$ we have:

$$\begin{split} ||\rho(y)|t|^{\alpha}(l_{t,\alpha} + \lambda I)^{-1}f||_{2}^{2} &\leq \sum_{\{j\}} \int_{j-1}^{j+1} \left| \sum_{k=j-1}^{j+1} \rho(y)|t|^{\alpha} \varphi_{k}(l_{t,j,\alpha} + \lambda I)^{-1} \varphi_{k}(I - B_{\lambda,\alpha})^{-1}f \right|^{2} dy \leq \\ &\leq 3 \sum_{\{j\}} \int_{\Delta_{j}} \sum_{k=j-1}^{j+1} \left| \rho(y)|t|^{\alpha} \varphi_{k}(l_{t,k,\alpha} + \lambda I)^{-1} \varphi_{k}(I - B_{\lambda,\alpha})^{-1}f \right|^{2} dy \leq \\ &\leq 9 \sum_{\{j\}} \left\| \rho(y)|t|^{\alpha} \varphi_{j}(l_{t,j,\alpha} + \lambda I)^{-1} \varphi_{j}(I - B_{\lambda,\alpha})^{-1}f \right\|^{2} dy = \\ &= 9 \sup_{\{j\}} \left\| \rho(y)|t|^{\alpha} \varphi_{j}(l_{t,j,\alpha} + \lambda I)^{-1} \right\|_{2}^{2} \cdot \left\| (I - B_{\lambda,\alpha})^{-1}f \right\|_{2}^{2} \leq \\ &\leq 9 \cdot c(\lambda) \sup_{\{j\}} \left\| \rho(y)|t|^{\alpha} \varphi_{j}(l_{t,j,\alpha} + \lambda I)^{-1} \right\|_{2}^{2} \cdot \left\| f \right\|_{2}^{2}, \end{split}$$

where $c(\lambda) = ||(I - B_{\lambda,\alpha})^{-1}||_{2\to 2'}^2 \sum_{\{j\}} \varphi_j^2 \equiv 1.$

Hence we have

$$\|\rho(y)|t|^{\alpha}(l_{t,\alpha} + \lambda I)^{-1}\|_{2}^{2} \leq 9 \cdot c(\lambda) \sup_{\{j\}} \|\rho(y)|t|^{\alpha}\varphi_{j}(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2}^{2}$$

Lemma 3.2 is proved.

Lemma 3.3. Let the conditions of the lemma 3.2 be fulfilled. Then the following estimates are true: a) $||q(y)(l_{t,\alpha} + \lambda I)^{-1}||_{2\to 2} \le c_1 < \infty;$ b) $||itb(y)(l_{t,\alpha} + \lambda I)^{-1}||_{2\to 2} \le c_2 < \infty;$ c) $||\frac{d}{dy}(l_{t,\alpha} + \lambda I)^{-1}||_{2\to 2} \le c_3 < \infty.$

Proof. According to Lemma 3.2, we have:

$$\|q(y)(l_{t,\alpha}+\lambda I)^{-1}\|_{2\to 2} \le c(\lambda) \sup_{\{j\}} \left\|q(y)|t|^{\alpha} \varphi_j(l_{t,j,\alpha}+\lambda I)^{-1}\right\|_{2\to 2}$$

Hence and from (3.1) we get

$$\|q(y)(l_{t,\alpha}+\lambda I)^{-1}\|_{2\to 2} \leq c(\lambda) \sup_{\{j\}} \left\|q(y)\varphi_j(l_{t,j,\alpha}+\lambda I)^{-1}\right\|_{2\to 2} \leq c(\lambda) \sup_{\{j\}}$$

$$\leq c(\lambda) \frac{\max_{y \in \Delta_j} |q(y)\varphi_j|}{|q(\overline{y}_j)} \leq c(\lambda) \frac{\max_{y \in \Delta_j} |q(y)|}{\min_{y \in \Delta_j} q(y)} \leq c(\lambda) \sup_{|y-t| \leq 1} \frac{q(y)}{q(t)} \leq c_1 < \infty.$$

The inequality a) of Lemma 3.3. is proved.

Further, using inequality (3.1) we get

$$\|itb(y)(l_{t,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j\}} \|itb(y)\varphi_j(l_{t,j,\alpha} + \lambda I)^{-1}\|_{2 \to 2} \le c(\lambda) \sup_{\{j$$

$$\leq c(\lambda) \sup_{|y-t|\leq 1} \frac{b(y)}{b(t)} \leq c_2 < \infty.$$

Inequality b) of Lemma 3.3. is proved.

Now, we prove the inequality c) of Lemma 3.3. From the representation (2.27) we have

$$\left\|\frac{d}{dy}(l_{t,\alpha}+\lambda I)^{-1}f\right\|_{2}^{2} = \left\|\frac{d}{dy}K_{\lambda,\alpha}(I-B_{\lambda,\alpha})^{-1}f\right\|_{2}^{2} \leq \\ \leq \left\|\sum_{\{j\}}\varphi_{j}'(l_{t,j,\alpha}+\lambda I)^{-1}\varphi_{j}(I-B_{\lambda,\alpha})^{-1}f + \sum_{\{j\}}\varphi_{j}\frac{d}{dy}(l_{t,j,\alpha}+\lambda I)^{-1}\varphi_{j}(I-B_{\lambda,\alpha})^{-1}f\right\|_{2}^{2} \leq \\ \leq c_{0} \cdot c(\lambda) \cdot \sup_{\{j\}}\left\|(l_{t,j,\alpha}+\lambda I)^{-1}\right\|_{2}^{2} \cdot \|f\|_{2}^{2} + c_{0} \cdot \sup_{\{j\}}\left\|\frac{d}{dy}(l_{t,j,\alpha}+\lambda I)^{-1}\right\|_{2}^{2} \cdot \|f\|_{2}^{2},$$
(3.11)

where $c_0 = max \left(\sup_{y \in R} |\varphi'(y)|, \sup_{y \in R} \varphi_j(y) \right), c(\lambda = ||(I - B_{\lambda, \alpha})^{-1}||_{2 \to 2}^2.$ From (3.11), according to Lemma 2.4, we find

$$\left\|\frac{d}{dy}(l_{t,\alpha} + \lambda I)^{-1}f\right\|_{2}^{2} \le c_{3} \cdot ||f||_{2}^{2},$$

where $c_3 = c_0 \cdot c(\lambda) \cdot \left(\frac{c(\delta)}{(\delta+\lambda)} + \frac{c(\delta)}{(\delta+\lambda)^{\frac{1}{2}}}\right)$. The inequality c) of Lemma 3.3 is proved.

Lemma 3.4. Let the conditions of the lemma 3.3 be fulfilled. Then the following estimates are true

- a) $\|q(y)(l_t + \lambda I)^{-1}\|_{2 \to 2} \le c_4 < \infty;$ b) $\|itb(y)(l_t + \lambda I)^{-1}\|_{2 \to 2} \le c_5 < \infty;$ c) $\|\frac{d}{dy}(l_t + \lambda I)^{-1}\|_{2 \to 2} \le c_6 < \infty.$

Proof. From the representation (2.29) we have:

$$\left\| q(y)(l_t + \lambda I)^{-1} f \right\|_2^2 = \left\| q(y)(l_{t,\alpha} + \lambda I)^{-1} (I - A_{\lambda,\alpha})^{-1} f \right\|_2^2 \le$$

$$\le \left\| q(y)(l_{t,\alpha} + \lambda I)^{-1} \right\|_{2\to 2}^2 \cdot \left\| (I - A_{\lambda,\alpha})^{-1} f \right\|_2^2.$$
 (3.12)

Hence, according to Lemma 3.3 we find

$$\left\|q(y)(l_t + \lambda I)^{-1}f\right\|_2^2 \le c_1 \left\|(I - A_{\lambda,\alpha})^{-1}\right\|_{2 \to 2} \cdot \|f\|_2.$$
(3.13)

Since $\left\| (I - A_{\lambda,\alpha})^{-1} \right\|_{2 \to 2} \le c_0 < \infty$, then (3.13) it follows that

$$\|q(y)(l_t + \lambda I)^{-1}f\|_{2\to 2} \le c_1 \cdot c_0 < c_4 < \infty.$$

Now, we prove the inequality b) of Lemma 3.4. Using the inequality b) of Lemma 3.3, we have

$$\|itb(y)(l_t + \lambda I)^{-1}f\|_2^2 \le \|itb(y)(l_{t,\alpha} + \lambda I)^{-1}\|_{2\to 2}^2 \cdot \|(I - A_{\lambda,\alpha})^{-1}\|_{2\to 2}^2 \cdot \|f\|_2^2.$$

Hence we have $\|itb(y)(l_t + \lambda I)^{-1}\|_{2 \to 2} \le c_2 \cdot c_0 < c_5 < \infty$. The inequality b) of Lemma 3.4 is proved.

Further, using the clause *b*) of Lemma 3.3, we obtain

$$\left\|\frac{d}{dy}(l_t + \lambda I)^{-1}f\right\|_2^2 \le \left\|\frac{d}{dy}(l_{t,\alpha} + \lambda I)^{-1}\right\|_{2\to 2}^2 \cdot \left\|(I - A_{\lambda,\alpha})^{-1}\right\|_{2\to 2}^2 \cdot \|f\|_2^2 \le c_3 \cdot c_0 \cdot \|f\|_2^2$$

Lemma 3.4 is proved.

Proof of Theorem 1.2. According to Theorem 1.1, the inverse operator $(L + \lambda I)^{-1}$ to the operator $L + \lambda I$ has the form

$$u(x, y) = (L + \lambda I)^{-1} f = F_{t \to y}^{-1} (l_t + \lambda I)^{-1} \tilde{f}.$$
(3.14)

From (3.14) using the properties of the Fourier transform we obtain

$$b(y)u_x = b(y)D_x(L+\lambda I)^{-1}f = b(y)\frac{\partial}{\partial x}F_{t\to x}^{-1}(l_t+\lambda I)^{-1}\tilde{f} =$$
$$= b(y)\frac{\partial}{\partial x}\frac{1}{\sqrt{2\pi}}\int_{-\infty}^{\infty}(l_t+\lambda I)^{-1}\tilde{f}(t,y)e^{ixt}dt = \frac{1}{\sqrt{2\pi}}\int_{-\infty}^{\infty}b(y)it(l_t+\lambda I)^{-1}\tilde{f}(t,y)e^{ixt}dt =$$
$$F_{t\to x}^{-1}(itb(y))(l_t+\lambda I)^{-1}\tilde{f}(t,y).$$

Hence and from the properties of the Fourier transform we find

$$\begin{split} \|b(y)u_{x}\|_{2}^{2} &= \|b(y)D_{x}(L+\lambda I)^{-1}f\|_{2}^{2} = \\ &= \int_{-\infty}^{\infty} \left(\int_{-\infty}^{\infty} \left|itb(y)(l_{t}+\lambda I)^{-1}\tilde{f}(t,y)\right|^{2}dy\right)dt = \int_{-\infty}^{\infty} \|itb(y)(l_{t}+\lambda I)^{-1}\tilde{f}(t,y)\|_{2}^{2}dt \leq \\ &\leq \int_{-\infty}^{\infty} \left\|itb(y)(l_{t}+\lambda I)^{-1}\right\|_{2\to2}^{2} \cdot \left\|\tilde{f}(t,y)\right\|_{2}^{2}dt \leq \sup_{t\in\mathbb{R}} \|itb(y)(l_{t}+\lambda I)^{-1}\|_{2\to2}^{2} \cdot \int_{-\infty}^{\infty} \left(\int_{-\infty}^{\infty} \left|\tilde{f}(t,y)\right|^{2}dy\right)dt = \\ &= \sup_{t\in\mathbb{R}} \|itb(y)(l_{t}+\lambda I)^{-1}\|_{2}^{2} \cdot \|f(x,y)\|_{2}^{2}. \end{split}$$

From the last inequality and the inequality b) of lemma 3.4 it follows that

$$||b(y)u_x||_2 = c_5||(L+\lambda I)u||_2, \tag{3.15}$$

where $(L + \lambda I)u = f$. Using clause *a*) of Lemma 3.4 we also find that

$$\|q(y)u\|_{2}^{2} = \int_{-\infty}^{\infty} \|q(y)(l_{t} + \lambda I)^{-1}\tilde{f}(t, y)\|_{2}^{2} dt \leq \sup_{t \in \mathbb{R}} \|q(y)(l_{t} + \lambda I)^{-1}\|_{2 \to 2}^{2} \cdot \int_{-\infty}^{\infty} \left(\int_{-\infty}^{\infty} \left|\tilde{f}(t, y)\right|^{2} dy\right) dt \leq c_{4} \cdot \|(L + \lambda I)u\|_{2},$$
(3.16)

where $(L + \lambda I)u = f$.

 \leq

Using representation (3.14) and the properties of the Fourier transform, we obtain

$$\|u_y\|_2^2 \leq \int_{-\infty}^{\infty} \left\|\frac{\partial}{\partial y}(l_t + \lambda I)^{-1}\right\|_{2 \to 2}^2 \cdot \left\|\tilde{f}(t, y)\right\|_2^2 dt \leq \sup_{t \in \mathbb{R}} \left\|\frac{\partial}{\partial y}(l_t + \lambda I)^{-1}\right\|_{2 \to 2}^2 \cdot \int_{-\infty}^{\infty} \left\|\tilde{f}(t, y)\right\|_2^2 dt$$

Considering the inequality c) of Lemma 3.4 from the last inequality, we obtain

$$||u_{y}||_{2} \le c_{6} \cdot ||(L + \lambda I)u||_{2}, \tag{3.17}$$

where $(L + \lambda I)u = f$.

Using inequalities (3.15)-(3.17), we obtain the following inequality

$$\|u_{xx} - u_{yy}\| = \|(L + \lambda I)u - b(y)u_x - q(y)u - \lambda u\|_2 \le + \lambda I \|u\|_2 + \|b(y)u_x\|_2 + \|q(y)u\|_2 + \lambda \|u\|_2 \le c(\lambda) \|(L + \lambda I)u\|_2,$$
(3.18)

where $c(\lambda) > 0$ -constant number independent of u(x, y).

||(L

Inequalities (3.15)-(3.18) imply that for any $u(x, y) \in D(L)$

 $||u_{xx} - u_{yy}|| + ||b(y)u_x||_2 + ||q(y)u||_2 + ||u_y||_2 \le c \cdot ||(L + \lambda I)u||_2,$

c > 0-constant number. Theorem 1.2 is proved

References

- [1] J.Hadamard, The Cauchy problem for hyperbolic linear partial differential equations, Nauka, Moscow, 1978.
- [2] K. Friedrichs, Symmetric hyperbolic linear differential equations. Comm.Pure and Appl. Math. 7 (1954) 345–392.
- [3] S.L. Sobolev, Selected works. Vol.2. Publishing institute of mathematics, Novosibirsk, 2006.
- [4] L. Garding, Linear hyperbolic partial diiferential equations with constant coefficients, Acta Math. 85 (1951) 1–62.
- [5] O.A. Ladyzhenskaya, On the solvability of the basic boundary value problems for the equations of hyperbolic and parabolic types. DAN USSR, 97(3) (1951) 395–398.
- [6] A.V. Bitsadze, Some classes of partial differential equations. Nauka, Moscow, 1981.
- [7] J. Leray, Hyperbolic differential equations. Nauka, Moscow, 1984.
- [8] A.M. Nakhushev, Offset problems for partial differential equations. Nauka, Moscow, 2006.
- [9] T.Sh. Kalmenov, On the theory of initial boundary value problems for differential equations. Almaty, 2013.
- [10] T.I. Kiguradze, On periodic boundary value problems for linear hyperbolic equations, I, Differential equations, 29 (2) (1993) 281–297.
- [11] T.I. Kiguradze, On bounded and periodic in the strip solutions of quasilinear hyperbolic systems, Differential equations, 30 (10) (1994) 1760–1773.
- [12] A.V. Filinovskii, Spectrum and stabilization in hyperbolic problems, Journal of Mathematical Sciences, 234(4) October 2018.
- [13] M. Nagumo, Lectures on the Contemporary Theory of Partial Differential Equations. Mir, Moscow, 1967 (in Russian).
- [14] O.A. Ladyzhenskaya, N.N. Ural'tseva, Linear and Quasilinear Equations of Elliptic type. Nauka, Moscow, 1973.
- [15] R. Haller, H. Heck, M. Hieber, Muckenhoupt weights and maximal L^p regularity, Arch. Math. 81 (2003) 422–430.
- [16] P.C. Kunstmann, L. Weis, Maximal L^p regularity for Parabolic Equations, Fourier Multiplier Theorems and H[∞] functional Calculus, G. Da Prato et al: LNM, 1855, M Iannelli et al, 2004, 65–311.
- [17] L. Weis, Operator-valued Fourier multiplier theorems and maximal L^p regularity, Math. Ann. 319 (4) (2001) 735–758
- [18] W.N. Everitt, M. Giertz, On some properties of the domains of power of certain differential operators, Proc. London Math. Soc. 24(4) (1972) 756–768.
- [19] W.N. Everitt, M. Giertz, On some properties of the powers of a formally self-adjoint differential expression, Proc. London Math. Soc. 24(1) (1972) 149–170.
- [20] W.N. Everitt, M.Giertz, An Example concerning the Separation Property of Differential Operators, Proc. Soc. Edinburgh, 71 (2) (1973) 159–165.
- [21] M. Otelbaev, On the separability of elliptic operators, AN USSR, 234(3) (1977) 540-543 (in Russian).
- [22] M. Otelbaev, Coercive estimates and separability theorems for elliptic equations in Rⁿ, Trudy Mat. Inst. Steklova, 161 (1983) 195–217 (in Russian).
- [23] K.Kh. Boimatov, Separability theorems, weighted spacees and their applications, Trudy Mat. Inst. Steklova, 170 (1984) 37–76 (in Russian).
- [24] K.Kh. Boimatov, Coercive estimates and separability for second-order elliptic differential operators, Dokl. Akad. Nauk SSSR, 301 (5) (1988) 1033–1036.
- [25] M. Muratbekov, Separability of an operator of mixed type and the completeness of its root vectors, Diff. Equ. 27 (1991) 2127–2137.
- [26] M.Reed, B.Simon, Methods of Modern Mathematical Physics, Vol.2. Fourier Analysis and Self-Adjointness, 1978.
- [27] N.I.Akhiezer, I.M. Glazman, Theory of Linear operators in Hilbert space, Moscow: Nauka, 1996. (Russian) (Originally Published: New York (4): F.Ungar Pub.CO. 1961-1963).